I can LOMPOLEL Lhe )Uuzi,%hbs 0/? di/uﬂ/vf;zrznt 0bﬁ'2d/5 - Cha“znqzﬁ

Heavier than Eq/)u,al to Li%htzr fhan

“’ The dﬁq LA the lad%bifd.
l The lad%bud LA fhe dﬁq.

Fllie thinks that the Penzil is heavier than the doll. Is she
Jri,a{rhi?

EJX,PJ\,GLI"L A?(,OAU' ANAMELYT.

What would be heavier than the hutton”

EJXPJ\;{UJ’I A}DA.U’ aANAMer.

’ /\ /\ . The children are /szzin,gf whether the halloon or

{ The balloon will be ] Lhe aPPlz wikk wziqh more. Who is rix}ht?

heavier because it is
bigger than the apple.

The balance will be
level because they are =

both red. Whitney

The apple will go down
because it is lighter.

Mo

The balloon will go up -
[ because it is lighter. } E ;

Teddy




